	 FORMCHECKBOX 

	Number
	

	1
	152 000 - 46 000 = 106 000

106 000 ( 0.0456 = 2.32 ( 106

	4

	 FORMCHECKBOX 

	
	

	2
	a)   9.35 ( 107
b)   250 000

c)  93 500 000 ( 250 000 = 3.74 ( 102

	5

	 FORMCHECKBOX 

	
	

	3
	a)
i) 1


ii) 1/16                                   

b) 1/8 ( 2=1/4                             
	4

	 FORMCHECKBOX 

	
	

	4
	a)   3.62 ( 108
b)   From 5.11 ( 108 to 5.12 ( 108
c)   (a)/(b) ( 100 = between 70 and 71     

      inclusive
	6

	 FORMCHECKBOX 

	
	

	5
	3.27 ( 104

	2

	 FORMCHECKBOX 

	
	

	6
	2.7 ( 108 ( 3600 (= 75000) = 7.5 ( 104

	3

	 FORMCHECKBOX 

	
	

	7
	a)   10 600 ÷ 10 303 = 10 600-303 = 1×10 297 or 
10 297
b)   40×10 303 = 4×10 304

	4

	 FORMCHECKBOX 

	
	

	8
	a)   3×10 -8
b)   (a) ÷ 100 =  3×10 -10

	4

	 FORMCHECKBOX 

	
	

	9
	    453

(__73
  1359

31710
33069
	3

	 FORMCHECKBOX 

	
	

	10
	a)



= 17 coaches

b) 
  745 




    37
     5215

   22350
   27565               = £27 565

c) [{(b)-25 000 }/25000]×100 = 10.26%


	10

	 FORMCHECKBOX 

	
	

	11
	1 man takes 6×8 = 48 days

4 men take 48÷4 = 12 days
	3

	 FORMCHECKBOX 

	
	

	12
	a)  20/100 × 2.40 = £1.92

b)  2.70-1/3 ×2.70

     2.70-0.90 = £1.80
	3

	 FORMCHECKBOX 

	
	

	13
	1 costs 3.48 ÷ 12

20 costs 3.48 ÷ 12×20 = £5.80


	2

	 FORMCHECKBOX 

	
	

	14
	a)
i) 9.60÷8×5 = £6


ii) 35×24÷100 = 8.4 m

b)
i) 3÷8 = 0.375


ii) 3/8×100 or (I)×100 = 37.5%


	7

	 FORMCHECKBOX 

	
	

	15
	Tom (25×17.5÷100)+25 = £29.38

Pete's 48-(48÷3) = £32.00

City 40-(40×25÷100) = £30.00
	6

	 FORMCHECKBOX 

	
	

	16
	i)   800 ÷ 20

ii)  40
	3

	 FORMCHECKBOX 

	
	

	17
	a)
6 + 3 + 1 = 10


128/"10" = 12.8


6 × 12.8 = 76.8 = £76.80

b)
"76.8"/3 ( 2 = £51.20
	6

	 FORMCHECKBOX 

	
	

	18
	i)    30 - (30 × 15/100) = £25.50

ii)   36 × 2/3 = £24

iii)  22 + (22 × 17.5/100) = £25.85
	6

	 FORMCHECKBOX 

	
	

	19
	750 is 85%

1% = 750 ÷ 85

100% = 750 × 85 ÷ 100 = £882.35
	3

	 FORMCHECKBOX 

	
	

	20
	11374.09_  =  11374.09 
(0.2 + 4.5)2       4.72

= 514.89769...
	3

	 FORMCHECKBOX 

	
	

	21
	__59 ( 5.7_
=   _336.3_
200.3 ( 8.05
    1612.415

= 0.208569 = 0.208 or 0.209
	2

	 FORMCHECKBOX 

	
	

	22
	a)   3 × 2 × 0.5 = 3 

                 (F)

b)   "3" × 25.85 = 77.55
                             (F)

c)   0.125 × 1000 = 125

                  (F)

d)   "125" × 7.92 = 990

                 (E)

e)   "990" × 50 (= 49500)

      "49500" ÷ 8.85 (= 5593.220...) = 5593 (C)
	10

	 FORMCHECKBOX 

	
	

	23
	9.50 × 80 = 760Ff


	2

	 FORMCHECKBOX 

	
	

	24
	20 × 2 = 40 mins
	2

	 FORMCHECKBOX 

	
	

	25
	12 500 - 3 500 = 9000

9000 × 22 ÷ 100 = £1980
	3

	 FORMCHECKBOX 

	
	

	26
	35/(3 + 4) (= 5)

3 × 5 = 15 OR 3/7×35 = 15
	3

	 FORMCHECKBOX 

	
	

	27
	484 × 4.3/100
484 + 20.81 (= 504.81)

504.81 × 4.3/100 = 21.7069

504.81 + 21.71

OR
484 × 1.043 = 504.81

"504.81" × 1.043 = 526.52

OR

484 × 1.0432 = 526.52

Accept £526.51 or £526.52


	5

	 FORMCHECKBOX 

	
	

	28
	1st Jan 1997 £8500

1st Jan 1998 £7650

1st Jan 1999 £6885
	5

	 FORMCHECKBOX 

	
	

	29
	a)
i) 5.5 cm


ii) 4.5 cm

b)   0.2 km


	4

	 FORMCHECKBOX 

	
	

	30
	a)
i)   183 × 190 = 34770


ii)  34 800

b)
i) 

27



EMBED Unknown


ii)   600

30


iii)  20
	6

	 FORMCHECKBOX 

	
	

	31
	a)  11 cm2
b)  100 × 100 = 10000m2
c)  10000 - 11000 m2
d)  (b) × 85/100; OR (b) - (b) × 15/100
       = 93500 m2
	7

	 FORMCHECKBOX 

	
	

	32
	a) 2 × ( × 6 or ( × 12 = 37.7 cm

b) 12 × 130/100;

    12 + 12 × 30/100 = 15.6 cm
	5
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